Potencias de 10 (H)

Calcule los siguientes productos y cocientes.

5.4281+1072 5.6917 - 10°
3.3351 = 10! 4.7889 = 10°
6.9317 = 10° 2.4559 ~ 107!
5.3712+10° 7.8269 + 10!
3.0665 + 107! 8.9376 = 10°
3.5221 x 1072 1.7377 = 10°
6.2078 x 107! 7.3104 107"
3.7919 +10° 8.2443 +10°
6.2289 x 10° 7.3774+10""
1.8871 x 1073 1.9504 =102
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Potencias de 10 (H) Respuestas

Calcule los siguientes productos y cocientes.

5.4281 1072
542.81
3.3351 = 10!
0.33351
6.9317 +10°
6.9317
5.3712 = 10°
5.3712
3.0665 107!
30.665
3.5221 x 1073
0.0035221
6.2078 x 107!
0.62078
3.7919 +10°
0.0037919
6.2289 x 10°
6.2289
1.8871 x 1073
0.0018871

5.6917 ~10°
0.0056917
4.7889 = 10°
0.0047889
2.4559 ~ 107!
24.559
7.8269 = 10!
0.78269
8.9376 = 10°
8.9376
1.7377 = 10°
0.0017377
7.3104 107!
73.104
8.2443 = 10°
0.0082443
7.3774 107!
73.774
1.9504 = 1072
195.04
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